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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

At what temperature does solid ice and liquid water co - exist together ?

“The direction in which an object moves is given by the direction of velocity of the
object and not by the direction of acceleration”. Give an example to justify this statement.

The earth is acted upon by the gravitational force of attraction due to the sun. Then
why does the earth not fall towards the sun ?

Mention any two activities for the improvement of crop yield.

Suggest a suitable separation technique for the following :
(a) Mercury and water,

(b) Coloured components from blue ink,

(c)  Ammonium chloride and potassium chloride,

(d) Mixture of alcohol and water.

What is the effect of the following on the rate of diffusion ?
(a) temperature (b)  density of liquid

A girl moves with the speed of 6 km/h for 2 h and with the speed of 4 km/h for the
next 3 h. Find the average speed of the girl and the total distance moved.

Four speed - time graphs are shown below.
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Which graph represents the following case ?
(a) A ball thrown vertically upwards and returning to the hand of the thrower ?
(b) A body decelerating to a constant speed and then accelerating.

Speed (m/s) Time (s)
(a) (b)
(c) (d)

It is difficult to balance our body when we accidentally ship on a peel of banana.
Explain why ?

Show that if the earth attracts two bodies A and B placed at the same distance from the
centre of the earth with the same force, then their masses are equal.

Give the functions of the following organelles in a cell.
(i)  Chloroplast (ii) Nucleus

State cell theory. Name the scientist who presented it.
What is plasmolysis? Give its one example.
Mention any three properties of colloids.

Using a flow chart show the process of obtaining different gases from air.

What is animal husbandry? Differentiate between milch and draught animals. What
do the following supply to dairy animals :

(i) roughage (i) concentrates.

Describe in brief about the various factors responsible for the damage and spoilage of
stored food grains.

Define hybridization. List its any two advantages.

The driver of a train A travelling at a speed of 54 km/h applies brakes and retards the train
uniformly. The train stops in 5s. Another train B is travelling on the parallel track with a
speed of 36 km/h. This driver also applies the brakes and the train retards uniformly. The
train B stops in 10s. Plot speed - time graph for both the trains on the same paper. Also
calculate the distance travelled by each train after the brakes were applied.

980604 - Al




Two balls A and B of masses ‘m” and ‘2 m” are in motion with velocities 2 V' and “V’
respectively. Compare

(i) their inertia

(ii) their momentum and

(iii) the force needed to stop them in the same time.

Prove that if a body is thrown vertically upward, the time of ascent is equal to the time
of descent.

(a) A body whose volume is 100cm® weighs 10N. in air. Find its weight in water
(Take g=10ms~2, density of water=1000 kg m~3)

(b) A body is weighed first in air, then in liquid A and then in liquid B. The
observations are 100N, 50N and 60N respectively. Which liquid is denser? What
is the ratio of density of liquid A to that of liquid B ?

Define matter. Name the state of matter in which the forces between the constituent
particles are (i) Strongest, (ii) Weakest.
Give reasons for the following :
(i)  Aliquid generally flows easily.
(ii) Ice at 0°C appears colder to the mouth than water at 0°C. Why ?
(iii) Doctors advise to put strips of wet cloth on the forehead of a person having
high temperature.
OR
Account for the following
a) For any physical state, the temperature remains constant during the change of state.
b) Water kept in an earthen pot becomes cool in summer.

An iron rod is solid at room temperature.

(

(

(c) We are able to sip hot tea from a sancer rather than a cup.

(

( When sugar crystals dissolve in water, the level of water does not rise appreciably.

Action and reaction are equal and opposite but even then they do not cancel
each other. Why ?
Explain why it is dangerous to jump out of a moving bus ?
A machine gun can fire 50g bullets with a velocity of 150m/s. A 60kg stone is
moving towards the machine gun velocity of 10m/s. How many bullets must be
fired from the gun to just stop the stone in its tracks ?

OR
Explain why it is difficult to walk on sand ?
Why does the recoil of a heavy gun on firing not so strong as a light gun using the
same cartridges ?
A constant force acts on an object of 5kg for a period of 2s. It increases the
velocity of the object from 3m/s to 7m/s. Find the magnitude of the applied
force. Now, if the force were applied for a period of 5s, what would be the final
velocity of the object ?
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Describe any three functions of Golgi apparatus.
Name four components of phloem
OR

What is a Meristematic tissue? State its different types. Show their locations in a
diagram of a plant body. Give classification of meristems.

Why is cell membrane called selectively permeable membrane ?
SECTION - B

Chalk powder, common salt, oil and milk were added to water separately in four beakers.
On stirring the contents the suspension would be obtained in the beaker containing

(a) chack powder (b) common salt
(c) oi (d) milk

A student wants to prepare iron sulphide by heating a mixture of iron filings and
sulphur powder. For this he should use a

(a) watch glass (b) copper dish
(c) petridish (d) china dish

After preparing iron sulphide a student took a small piece of it in a test tube and added
about 2mL carbon disulphide in it. After that he shook the contents of the test tube
and observed that the solution formed is

(a) colourless (b) green

() pink (d) Dblue

You are given following four mixtures. The mixture that appears clear and transparent
is:

(a) starch in water (b) sugar in water
(c) sand in water (d) chalk powder in powder

Rahul placed an iron strip in copper sulphate solution and after about four hairs
observed that

(a) a grey and hard coating is deposited on the iron strip.
(b) a soft and black coating is deposited on the iron strip.
(c) areddish brown coating is deposited on the iron strip.
(d) asmooth and shiny coating is on the iron strip.

On adding 1mL BaCl, solution to 2mL Na,SO, solution in a test tube Monika observed
that

(a) aclear solution is obtained

(b) a white solid settles at the bottom

(c) the solution turns blue

(d) two solutions form separate layers in the test tube.
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While separating the components of a mixture of sand, camphor and common salt
Mohan added water to the mixture in a beaker and stirred it well. He observed that
component a that has dissolved in water is :

(a) camphor
(b) camphor and common salt
() sand

(d) common salt

The correct sequence of steps for separating a mixture of sand, ammonium chloride
and sodium chloride is :

(a) Sublimation, evaporation, adding water, filtration
(b) Sublimation, adding water, filtration, evaporation
(c) evaporation, sublimation, adding water, filtration
(d) evaporation, adding water, filtration, sublimation

For determining the melting point of ice we should prefer
(a) ice made from distilled water

(b)
(c)  dry crushed ice mixed with salt
(d) a mixture of ice and salt

ice made from top water

Mohan used a thermometer having 20 divisions between 30°C mark and 40°C mark.
While determining boiling point of water using this thermometer he observed that the
level of mercury becomes constant just 3 division below the 100° Cmark Mohan should
record in his note book

(a) Least count=05°C BP.=97°C (b) L.C.=0.5°C B.P.=98.5°C
(c) L.C.=1°C B.P.=98.5°C (d) L.C.=1°C B.P.=97°C

In the preparation of a temporary mount of onion peel the commonly used stain is
(a) safranin (b) iodine solution
(c) methylene blue (d) glycerine

On a slide mounting of the material should be done
(a) on the left side (b)  on the right side
(c) in the corner (d) in the centre

The given slide was identified as parenchyma by Reena. The cell must
(a) have thick cell walls
b) be non - nucleated

(
(c) have thickened corners
(d) have thin cell walls with internuclear spaces.
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39. Seema was asked to identify a tissue on a given slide. The cells are long, unbranched
and multinucleated. The cells are

(a) striated muscle cells (b) smooth muscles

(c) cardiac muscles (d) none of the above.

The food sample ideal for starch test is
(a) Dal (b) Mustard () Rice (d) Sugar

In a school laboratory most commonly used chemical to test the presence of metanil
yellow in a dal is

(a) lodine solution (b) Conc HCl (c) Safranin (d) Alcohol

-00o0-
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